Test ? (Support reactions):
Make html of this:
In the following figures, how many unknowns does each support have?
	Constraints
	Number of unknowns (use in solutions)
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Fixed support
	3
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The reactions are the couple moment and the two force components.
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Smooth pin or hinge
	2
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The reactions are two components of force.
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Cable


	1
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The reaction is a tension force which acts away from the member in the direction of the cable.
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Weightless link
	1
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or
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The reaction is a force which acts along the axis of the link.
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or

 SHAPE  \* MERGEFORMAT 


 
Roller
	1
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The reaction is a force which acts perpendicular to the surface at the point of contact.
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